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Guess Paper -2009

CIASS-X

SUBJECT-MATHS

GENERAL INSTRUCTION:
*All question are compulsary.                                  

 questions divided into 4 sections A,B,C&D.

*Section A consists 10 questions of 1mark each.  

*Section B consists 5 questions of 2mark each.

*Section C consists 10 questions of 3mark each.

*Section D consists 5 questions of 6mark each.

*Use of calculator is not permited.
                     SECTION-A

1. Write the HCF of smallest composite number and the smallest prime number.
2. Write the polynomial whose zeroes are -5 and 9.
3. For what value of K,the following pair of linear equation has infinite solution?
         10x + 5y - (K - 5) = 0

          20x +10y - k = 0
4. The nth term of an A.P is 7-4n.Find its common difference.
5. Give an example of polynomial  f(x),g(x),q(x) and r(x) satisfying f(x)=g(x)q(x)+r(x) where deg                 r(x)=0
6. If sinA-cosA=0 and 0<A<900, find the value of A.
7. What is the perimeter of a sector of angle 900 of circle with radius 14cm ?
8. Justify the statement "Tossing a coin is a fair way of deciding which team should get the batting first at the beganing of cricket game".
9. The mean of six observations x+6,x-6,x,x+8,     x+12,x-2 is 26 .find its observation.
10. From a point P outside a circle with center O, tangent PA & PB are drawn.Prove that OP is the perpendicular bisector of AB.
SECTION-B

11. If the mid point of line segment joining            A(x,y+1) and B(x+1,y+2) is C(3/2,5/2) .find the value of  x & y.

12. find the solution of pair of linear equation:

       3/x + 8/y = -1 

       1/x - 2/y  = 2 ;  x,y is not equal to 0

                     OR

     A contract on constrution job specifies a penltaly for declay of completion beyond a certain   

date as follows : Rs 200 for one day,Rs 250 for second day,Rs 300 for third day as soon as on. If the contractor pays Rs 27750 as penalty,find the number of days of which the constrution work is delayed.

14. Tickects are numberd from 3 to 103. they are well shuffeld and then a ticket is drawn at random.What is the probability that the drawn ticket has:

(i) a number 7 or multiple of 7.

(ii) a number which is cube.

15. The diagonal BD of a parallelogram ABCD intersects the segment AE at point F,where E is any point on side BC.Prove that DF.EF =FB.FA

SECTION-C

16. Use Euclid division lemma to show that the cube of any positive integer is of the form of 9m+1 

or 9m+8

17. Solve:

    If we add 1 to the numerator and subtract 1            from the denominator,a fraction reduces to 1.               It becomes 1/2 if we only add 1 to the denominator. What is the fraction?

18. If A and B are (-2,-2)and (2,-4) respectively, find the co-ordinates of P such that AP=3/7AB and P lies on line segment AB.

                       OR

  Prove that the co-ordinates of the centroid of a triangle ABC with vertices A(x1 ,y1 ) B(x2 ,y2 ) C(x3 ,y3 )  

Are given by  x1 +x2 +x3 , y1 +y2 +y3 
                  3          3
19. Prove that :  

     tanA/1-cotA + cotA/tanA = secA . cosecA
20. The sum and product of zeroes of a quadratic polynomial are -1/2and -3 respectively. What is quadratic polynomial?

21. The houses of a row are numbered cosecutively from 1 to 49.show that there is value of x such that the sum of numbered of the houses following it and find the value of x.

                       OR

The sum of third & seventh term of an A.P is 6 and their product is 8.find the sum of first sixteen terms ofA.P

22. ABCD is a rectangle formed by the points       A(-1,-1) B(-1,4) C(5,4) & D(5,-1) . P,Q,R,S,are the mid points of AB,BC,CD and DA respectively.     

Is the Quadrilateral PQRS a square? a rectangle? 

or a rombus? Justify your statement.

23. Let ABC be a right triangle in which AB=6cm BC=8cm and <B=900. BD is perpendicular from B on AC. The circle through B,C,D is  drawn.Constract the tangent from "A" to the circle.

24. To cover the rectangular field with grass at the rate of 85 paise per m sq.  the total cost is 

Rs 625.75 . find the perimeter of the field if the sides are in the ratio 5:3

                          OR
The inner circumfrence of a circular track is 440m.The track is eveywhere 14m wide.calculate the cost of :

(i)levelling it at 20 paise/sq m.

(ii)putting up a fence along outter circles at 

Rs 2/m.

25. Prove that the sum of squares of the diagnonals of a parallelogram is equal to sum of squares of its sides.
SECTION-D

26. An aeroplane flying horizontlly 1km above the ground is observed at an elevation 600.After 10 seconds, its elevation is observed to be 300.find the speed of aeroplane in km/hr.

27. State & Prove the Pyhthagoras theorem

Use the above theorem, in the following:

If triangle ABC is an equilateral triangle with AD perpendicular on BC, then AD2 = 3DC2

                                          OR

State & prove Thales theorem 

Use the above theorem, in the following:

Prove that a line drawn through the mid-point of one side of a triangle to another side bisects the third side.

28. The height of the cone is 30cm.A small cone is cut off at the top by a parallel to the base. If its volume be            

 1 of the given cone, at what height above base is the 
27 section made? 
29. A boat goes 12 km upstream & 40km downstream in 8 hours. It can go 16 km upstream & 32 km  

downstream in the same time. Find the speed of the boat in still water & the speed of the stream?

                         OR  

From a pair of linear equation in 2 variable using the following information & solve it graphically :
Five years ago, sagar twice as old as Tiru. Ten years later Sagar,s age will be ten years more than Tiru,s age. find the present age .what was the age of sagar when Tiru was born
30.
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